SET-A

PART - 1 (Teaching Ability, Reasoning and General Knowledge)
A - 1 (e afgha, eafd od e E @)
(Question Number 1 to 100) / (99 €841 1 ¥ 100 %)

Teacher uses visual-aids to make learning—
(A) Simple

(B) Quicker

(C) More knowledge

(D) Interesting

The most important cause of failure of

teacher lies in the area of—

(A) Interpersonal relationship

(B) Verbal ability

(C) Lack of command over the knowledge
of the subject

(D) None of these

Which is the least important factor in
teaching—

(A) Punishing the students

(B) Maintaining discipline in the class

(C) Lecturing in impressive way

(D) None of these

For showing the model in the teaching of a
topic teacher should—

(A) Keep showing throughout the lecture
(B) Stand in front of the model

(C) Show model when need arises

(D) None of these

Who wrote ‘Indica™—
(A) Kalidasa
(C) Magasthenese

(B) Kautilya
(D) None of them

Who is appointed as the speaker of 16th Lok
Sabha ?

(A) Arun Jaitly

(B) Sumitra Mahajan

(C) Sushma Swaraj

(D) Govind Singh Kunjwal

1.

HATTF g9d FGA F FAN AT H
frfafas a9 & fow e B

(A) 93d

(B) g 99 % fau

(C) wfers 39 % fau

(D) wfea T & fom

I FI FHEAAT F G99 g7 T &—
(A) F=T9aiaas g

(B) are <&

(C) fawa # Sa7 yarq Fa=mr 71 &
(D) 390 § &I T8

9T § 999 JayTF FRF HiF B
(A) BTET & TU8 A7

(B) & H SIMEA @

(C) T9Ta9TEl S § ARAN &1

(D) Tuded ¥ #ig T8

frdr ure & e & 9izw & SO F 999
9187 &1 T AfEu—

(A) 39 SR & T SR fSEaET Ten
(B) oTs@ & T @3 &M Aneq

(C) smasawar e W feamn anfzn

(D) 3 & =€ T

‘forzar F1 @@F T gi— ‘
(A) FTEEH (B) Fifew
(C) TS (D) =99 § FIE T2

1641 FeRaeT % oemw % w0 A R g
(A) T Szl
(B) gH= W
(C) g9 T
(D) Ma o foam
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10.

11.

12.

13,

14.

Annual Ratha Yatra of Lord Jagannath takes
place in which of the following state ?

(A) Tamilnadu (B) Karnataka

(C) Himachal Pradesh (D) Odisha

Who is appointed as the arbitrator in
Vodafone tax dispute case ?

(A) Ashok Chawala (B) R. C. Lahoti

(C) K. K. Malhotra (D) M. B. Shah

An example of audio-visual media is—
(A) Charts (B) Television
(C) Radio (D) Models

An example of maturation is when a child
learns to—
(A) Walk
(C) Read

(B) Draw
(D) Ride a bicycle

Which of the following is not a domain of
leaming—

(A) Cognitive
(C) Conative

(B) Affective
(D) Spiritual

Ram returned the pencil, he took from Seeta’s
desk because he was afraid of punishment,
if he got caught. This illustrates Kohlberg’s—
(A) Pre-conventional level

(B) Conventional level

(C) Post-conventional level

(D) None of these

‘Konkan Rail” directly connects—
(A) Delhi to Chennai

(B) Dehradun to Tanakpur

(C) Jammu to Kanyakumari

(D) None of these

“Operation Black Board” was the outcome of—

(A) Kothari Commission

(B) National Curriculam Framework - 2005
(NCF - 2005)

(C) National Policy on Education - 1986
(NPE - 1986)

(D) National Curriculam Framework - 2000

(NCF - 2000)

10.

11.

12.

13.

14.

SET-A
WA T F aids @ g e
g ¥ ¥ forad 9= Bl 8—

(A) afiag (B) FARE

(C) fewmas wew (D) wEmar

FEwH fqam & umd | qereg & w9 H
frgaa T T @ ¢

(A) 35T T@er (B) AR €1 @ER
(C)&. &. AT (D) TH. €. 9

TYg-5 WA & TETE e
(A) = (B) ==
(C) e (D) #f=w

R & U IeTeleT & & 5e arws drEar
.

(A) = (B) F=dT &0
(C) v (D) wrEfee =@

Fret & /@ & q1 0% SIRem & gey, T
‘g_

(A) G (B) WTETTH
(C) FFarm= (D) ST
T = HiT &1 356 @ o g2 Uf-He aifug 1@ &

FHifh 9 YHs I ¥ §AT e &7 ST 97
g FIEaT & (69 T & gamT & 7
(A) JE-ITRTE &I

(B) IATE &

(C) TETTHTT &R

(D) T | FE A

‘HiFo @ WY Arsdr &—
(A)ﬁv_vﬁaﬁi_ﬁﬂ'ﬁﬁ

(B) g i TG B

(C) ST IR F=GATY F

(D) % & F1E T8
“IHTRET =i 92 iy gr—
(A) T ST &

(B) USEra WTEgE TEAT - 2005

(C) Tt Sferer drsmr - 1986

(D) TSET qreasss AT - 2000
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15.

16.

17,

18.

19.

20.

21.

22.

Rural Development Minister Nitin Gadkari
launched the Shyama Prasad Mukherjee
National Rural Mission on ....... with an
allocation of 100 crore rupees.

(A) PPP model

(B) PTP model

(C) VTZ model

(D) STS model

Who is the Army Chief of India—
(A) Vikram Singh

(B) B. S. Chauhan

(C) D. K. Jain

(D) Dalbir Singh Suhag

When is Anti-Terrorism Day observed ?
(A) 20 May (B) 23 May
(C) 22 May (D) 21 May

The Education Minister of Uttarakhand is—
(A) Harish Rawat

(B) Dinesh Agarwal

(C) Mantri Prasad Naithani

(D) Preetam Singh

Project teaching method is associated with—
(A) Frobel (B) John Dewey
(C) Armstrong (D) None of these

When the child is ready to learn, he learns
more quickly and effectively. This principle
was given by—
(A) Thorndike
(C) Pavlov

(B) Skinner
(D) None of these

A teacher in a classroom should act as a—
(A) Progressive role (B) Boss role
(C) Democratic role (D) None of these

The objective of teaching is to—

(A) Create good citizens

(B) Create persons who are useful for the
society

(C) Create socialistic persons

(D) All the above

15,

16.

i
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(B) 1. uq. 9@

(C) 3. &. F=
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(D) & |t
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23,

24,

25.

26.

27.

28,

29.

30.

How many individuals were awarded the

2014 Raman Magsaysay Award ?
(A) Five (B) Six
(C) Four (D) None of these

World Elephant Day was observed across the
world on which day ?
(A) 11 August
(C) 12 August

(B) 19 July
(D) 10 July

An effective teacher is one who can—
(A) Control the class

(B) Give more information in less time
(C) Motivate students to learn

(D) None of the above

The FIBA Asian cup is associated with which
among the following sports ?

(A) Table Tennis (B) Hockey

(C) Football (D) Basketball

While teaching a theoretical topic in the class,
teacher should proceed from—

(A) Unknown to known

(B) Concrete to abstract

(C) Reasoning to observation

(D) None of these

A teacher can minimize depression among
students by—

(A) trying to understand its causes

(B) motivating the students

(C) Aand B

(D) reporting to Principal

Microteaching is most effective for the
students—

(A) During the practice teaching

(B) After the practice teaching

(C) Before the practice teaching

(D) None of the above

Value education makes a student—
(A) Dcctor (B) Good citizen
(C) Engineer (D) None of these
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(A) TT& FIUN T THA B BT HEAT
(B) BT & Hifede &

(C) A 3R B

(D) TR & giud &
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31.

32.

33.

34,

35.

36.

37.

38.

39.

District Primary Education Programme
(DPEP) was launched in the year—

(A) 1986 (B) 1984

(C) 2001 (D) None of these

How many gold medals were cinched by India
in 2014 Glasgow Commonwealth Games—
(A) 10 (B) 12
(C) 14 (D) 15

In alively classroom situation, there is likely
to be—

(A) Occasional roars of laughter

(B) Complete silence

(C) Frequent teacher-student dialogue

(D) Loud discussion

In your view, teaching is—
(A) An Art (B) A Skill
(C)A&B (D) None of these

Area of individual differences is—
(A) Gender-difference (B) Body structure
(C) Mental abilities (D) All the above

A child who behaves against the social rules
and regulations is called—

(A) Delinquent child (B) Idiot child

(C) Dull child (D) None of these

Kumar Sangakkara (Cricket player) belongsto
which country ?

(A) India (B) Sri Lanka

(C) Pakistan (D) Australia

For the students of 3rd class, which will be
the best way for teaching ?

(A) Lecture Method

(B) Creational Activities

(C) Group Discussion

(D) Laboratory Method

The academic performance of students can
be improved if parents are encouraged to—
(A) Supervise the work of their wards

(B) Arrange for extra tuition

(C) Remain unconcerned about it

(D) None of these
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(C) 2001 (D) TH & FE T
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40.

41‘

42,

43.

44.

45.

46.

If a student often comes late in the class you
would—

(A) Talk to his parents

(B) Complain to Principal about him

(C) Punish him severely

(D) Find the reason and then decide accordingly

A school girl developed the habit of dropping
the coat on the floor. Mother a<ked the girl
to get out of the room and hang up the coat
on the peg. The girl enters house keeps coat
on, approaches closet, hangs up the coat on
the peg. It is an example of—

(A) Chain learning

(B) Stimulus response learning

(C) Concept learning

(D) All the above

A process in which an individual learns new
responses by observing the behaviour of another
rather than through experience is known as—
(A) General Learning

(B) Social Learning

(C) Experimental Learning

(D) None of these

A provision for education for the children
with disabilities can be made through—
(A) Integration

(B) Main streaming

(C) Inclusive education

(D) None of these

For primary school children, which of the
following is better ?

(A) Video simulation

(B) Hands on experiences

(C) Experimental

(D) None of these

‘Toy age’ refers to—
(A) Early childhood (B) Babyhood
(C)A&B (D) Late childhood

Tobacco addiction is due to—
(A) Cocaine (B) Caffeine
(C) Nicotine (D) None of these
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(A) T8% Sfeashl | & H

(B) warrard & Saa fewma w6

(C) S ®BR T 3
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(A) #EarT kil

(B) Sgeio arfehar siferm &1

(C) y=ag stferm &

(D) v &t
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(A) g Siferm

(B) Grifeie SIferT

(C) wraifirs stfermy

(D) T8 ¥ #His 7

ﬁ:swamﬁﬁm%mwmmm
T &—

(A) THTHAT BT

(B) H&T 9T ¥ S/aat

(C) gamafdra forem arr

(D) 3 § F1E &

grafs el & awa & fou = F o
E A € ?

(A) fafzar srgeaor

(B) @3 & 2z farar mar srwa

(C) warmE

(D) &8 & &g 7éf

(A) @ am@en_ - (B) SEmEen
(C) A IR B 341 (D) IR Sreamgen
T F e e e -

(A) B (B) &%+

(C) Frapifes (D) =¥ & #E TH
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47,

48.

49.

50.

51.

53.

54,

What is the minimum age for marriage of
boys and girls in India ?

(A) 21 years and 18 years

(B) 18 years and 21 years

(C) 18 years and 20 years

(D) None of these

Break down in verbal communication is
described as—

(A) Short circuit
(C) Unevenness

(B) Contradiction
(D) Entropy

Photographs are not easy to—
(A) Publish (B) Secure
(C) Decode (D) None of these

-The National Disaster Management Authority

functions under the Union Ministry of—
(A) Home affairs  (B) Water Resources
(C) Defence (D) None of these

Which one of the following is the best
method of teaching ?
(A) Lecture

(C) Discussion

(B) Demonstration
(D) Narration

The famous temple ‘Dhari Devi’ is located at—
(A) Near Srinagar  (B) Uttarkashi

(C) Chamoli (D) Pithoragarh
g » Qg v
(A) 8 (B) 6
(C) 16 (D) 13
The sum of—
142+3+4+45......... + 100
(A) 5000 (B) 4500
(C) 5050 (D) 4050
93.+ ?_?u_gl =

4 17 15

817 717

Ay 7 1020 (B) 7 1020

- 817 717
© 71020 (D) 87050
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IRd | Wgd 9 wefedl #i faae drg g
MG F|TE ?
(A) 21 99 T 18 9
(B) 183 521 a¢
(C) 18 a4 g209¢

(D) T | &g TE

Wifes g9R § Fau™ & Fed &—

(A) vy uRmy (B) et

(C) s (D) Tzt
BET-RET & . FET S TE &
(A) TEHTEH (B) gwm

(C) fardehas (D) 375 ¥ &5 7
T HATYET Y& TR0 & & (e TeTad
% T T FAAE ¢

(A) & A (B) e T

(C) T (D) 99 | FIE &l
freataa & § e @ 9o €0 a9 4
3

(A) &= - (B) wesE

(C) foar famst (D) Tv=F

yierg ‘arlt ar afvey feam &—
(A) 4FPR % F9dis (B) STt 8

(C) ==t o (D) frdrre &
T i L e b
(A) 8 (B) 6
(C) 16 (D) 13
1+2+3+4+5....... + 100 &7 IT—
(A) 5000 (B) 4500
(C) 5050 (D) 4050
3 2 i
._+'?_,_ i,
4 17 4 5
817 717
(A) TflOZO (B) ?102(}
817 717
© 7]020 (D) 81020

06(General)/A



56. a__bb__baa_ bbb __ aa

(A) aabba (B) bbaab
(C) abaaa (D) baabb
57. AZ CX.FU,
(A) IR (B) IV
© JQ (D) KP
58. , PSVYB, EHKNQ, TWZCF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM

Note: Q. No. 59 to Q. No. 62 depend upon
the following coding.

Figure 4}) D@ A —_({

2. 3 4
Figure Q $ < D

Code 6 7. 8 :

59. Which number is presented by fo-Ilowing
figure—

GC OGP R

(A) 16198 (B) 79168
(C) 79816 (D) 17968

60. Which number is depicted by the following
figure—

DEARD

(A) 24672 (B) 46772
(C) 72246 (D) 27462

61. Which number is presented by the following
figure—

LTRGCAA

56.

§7.

58.

59.

60.

61.

62.

(A) 56714 (B) 19844
(C) 56744 (D) 56144
62. Which number is presented by the following
figure—
(A) 47645 (B) 45754
(C) 54674 (D) 74654

SET-A

a__bb__baa_ _bbb__aa
(A) aabba (B) bbaab
(C) abaaa (D) baabb
AZ, CX,FU,
(A) IR B) IV
©) JQ (D) KP
,PSVYB, EHKNQ, TWZCF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM
: U¥T 4. 59 ¥ 62 Frafafga ¢z @ ameam
wE
e

ﬁm@$ DE

wwﬁﬂwﬁuﬂmm

GOge R -

(A) 16198 (B) 79168
(C) 79816 (D) 17968

it g @ ) ger yefda e
"E:'a

OEARD

(A) 24672 (B) 46772
(C) 72246 (D) 27462

Prerifed & 9 9 gE yeiid ekl e 7

LR AA

(A) 56714 (B) 19844
(C) 56744 (D) 56144
it & w9 9 ge iy el §
(A) 47645 (B) 45754
(C) 54674 (D) 74654
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64.

65.

66.

67.

. Complete the following Number Series :

1,3,11,47, oo, 1439

(A) 239 (B) 293

(C) 932 (D) None of these
15,10, 5, 150, 16, 12, 4, 192, 20, 15, 5, ........
(A) 700 (B) 600

(C) 400 (D) 300

2,20, 120, ........, 3190

(A) 220 - (B) 330

(C) 440 (D) 630

How many rectangles are there in the
following figure—

Lt |
(A) 9 (@B 10
(C) 16 (D) None of these
Find the missing letter in the following table—
A|C|E
NIKIH
RIVI[?
(A) Z B) T
C)L (D) I

68. Inthe following figure how many triangles are there—

69.

70.

=

(A) 11 (B) 14

(C) 16 (D) 22 or more
IfA=1and AID = 36, then BELL="2?
(A) 16690 (B) 2210

(C) 1440 (D) 1210

Who has been appointed as the new Railway
Minister—

(A) Suresh Prabhu

(B) Manohar Parrikar

(C) Bipendra Singh

(D) Jagat Prakash Nadda

10

63.

64.

66.

67.

68.

69.

70.

S|

{1 e 4ol &1 g il
1,3,11,47, ......... , 1439
(A) 239 (B) 293
(C) 932 (D) T8 | &% =
15, 10, 5, 150, 16, 12, 4, 192, 20, 15, 5, ..
(A) 700 (B) 600
(C) 400 (D) 300
. 2,20, 120, ........ ,3190
(A) 220 (B) 330
(C) 440 (D) 630
I fog W o o foeae amaa E-
| |
-
(A) 9 (B) 10
(C) 16 (D) T & FE F
Fersr ¥ 21 72 iR H ¢ BT ST T U it
A|CI|E
N|K|H
RIVI?]
(A) Z B) T
(C) L (D) 1
& e Fgla # Bryet @ wen s St
e
/
(A) 11 (B) 14
(C) 16 (D) 22 a1 afes
it A=13RAID =36, d BELL =9
(A) 16690 (B) 2210
(C) 1440 (D) 1210

;ﬁi‘a%ﬁ%mﬁ“ﬁﬁﬁg&amm
(A) G 7Y

(B) w1 uTiiat

(C) fag= f4e

(D) ST WIS ATET
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7 SRy has launched the new Guaranteed
Minimum Pension Scheme in Dehradun.
(A) Menaka Gandhi (B) Smriti Irani
(C) Dharmendra Pradhan (D) None of these

72. The state game of Uttarakhand is—
(A) Cricket (B) Badminton
(C) Hockey (D) None of these

Note : (Q. No. 73 to 77) Choose the correct
figure from A, B; C, D in place of
question mark (?) i.e. make a full series.

» [0y

Question Figures

IE] l;l Iil O Answer Figures
(A) (B) (C) (D)

4. L0 UL luul 2 Question Figures
UL oy U Answer Figures
(A) (B) (C) (D)

"5 @ o |Question Figures
@ a @ Answer Figures
(A) (B) (C) (D)

7. | Q|| ()| 2 |Question Figures
OO O O Answer Figures
(A) (B) (C) (D)

77. | [D ﬁ ]| 2 |Question Figures
g 5] ﬁ [Q |Answer Figures
(A) (B) (C) (D)

i
(A) e Tifeht (B) wft
(C) =it g (D) ¥ ¥ HiE T
72. SEEYS F T EA HT -
(A) e (B) F=fives
(C) & (D) = & ¢ &
ﬁa‘sr:(uﬁvs 77 )mqwﬁmqm

m g st & 7 e &

73. G Q O ? | 9 g
(A) (B) (C) (D)

74. |0 UL (ol 2 | e it
LM UL UL U | SeRsngfoat
(A) (B) (C) (D)

75. 2 2 | we ongft
© & | D | s st
(A) (B) (C) (D)

76. QOO 7 | v gl
OO |O|Q | v st
(A) (B) (C) (D)

7. DO |l ? | v gl
U0 | A | R | sw sl
(A) (B) (C) (D)
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78.

Match list I to List II—

List1

(Name of MLA)

(a) Dinesh Agrawal
(b) Subodh Uniyal

(¢) Pushkar Dhami
(d) Harish Rawat

Code—

79.

80.

81.

82.

(A) 3
®B) 1
€ 4
D) 4

List II
(Constituency)
(1) Khatima
(2) Dharchula
(3) Dharmpur
(4) Narendra Nagar

(c) (d)
1 2
4 2
1 2
2 1

The state animal of Uttarakhand is—

(A) Lion

(B) Cow

(C) Kasturi Mrag
(D) Elephant

Mil Mi-17 is a/an .....
- (A) Russian

(B) Indian
(C) American
(D) None of these

The official state second language of

Uttarakhand is—
(A) Hindi

(B) Sanskrit
(C) English

(D) Jaunsari

..... helicopter.

Who was Tapan Ray Chaudhary ?

(A) Historian
(B) Economist
(C) Painter
(D) Actor

SET-A

78. gt 1 &1 e = 1 8 #ife—

gl 1

(feemas &1 M)

(a) Ay swaEmw

(b) FaTer St
(c) g &l
(d) B9 U=

@_

(a) (b)
(A)
(B)
©)
(D)

B o = W
LS UL I U8 I -8

79. TAUETE F TLIF 9
(A) 97

(B) ma

(C) Tl

(D) &t

80.
(A) &1
(B) HRE™
(C) ity
(D) ¥ ¥ #E T

T 1
(frerm=r wim &=)
(1) @
(2) argen
(3) THR

(4) 0% T

(c) (

iR L

B o =

-

U, R TA.UA.HAE.-17 TF .......... EAIGET E |

81. TEE & Jfaeiie fadm s wmr

3
(A) =i
(B) d&ga
(C) u=t
(D) ST

82.
(A) zfaErEar
(B) sregmmes
(C) F=ar
(D) ifyar

12
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Note : (Q. No. 83 to 87) Choose the right neat
figure from the answer figure which one
is the next right figure for the question

figure series.

g3, Question figures :

miiniinile

H

Answer figures :

BB

(A) (B) (C) (D)

84. Question figures :

+=0 =0x0xnle=
% * = [}

*

Answer figures :

=0x|] =0|l=0%x|=09
@ A S

(A) (B) (C) (D)

85. Question figures :

N|T

Ghﬁmﬂ

=1L

IS/

B

Answer figures :

B
/NN [/
AR\ aln A AT

|/l

(A) (B) (C) (D)

86. Question figures :

© > |
*—
<= 0 - o_le
Answer figures :
+ O - o
- 0] —<

(A) (B) (C) (D)

87. Question ﬁgures :

Ald | 4c|alt|4]x]|al4

S|ClAl=]=]|x]|A]l? |7

Answer figures :

?7la]|?]|a | 4]|o
vi+ | +|4|0# |a]z

(A) (B) (C) (D)

qPe

83.

84.

85.

86.

87.

13
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(I 4. 83 ¥ 87 us) Fr=fefad &t wwr o
afe wn sl W @ TRl ek & W o
spfal 4 § 1 b I gl 9 aiw 3
U AGAAl $ T 9% AT 9T ¢

UsT Sgpiaar

~13HIBIB
e -
(A) (B) (C) (D)

Y9 Spfoar
A=0|=0x|OoxOxA =[S=0
* * = o] *

IW_ ATt
=0 x =0ol=0x%l=0e
3 ® A S
(A) (B) (C) (D)
Y ot
ﬁfé%@ (I A]BY
N3 N N 7 9
EEERCIETRE (.
65 umEum oL
0% M NI\
(A) (B) (C) (D)
g9 epfadr
® > %
e

“ i o _le
- 0O > o

- O =]
(A) (B) (C) (D)
U5 mpiaat
Al | 4lc|alt|4]x|a]4
slclal=|=]x]|a =
= mF
dlo|?2laj?]a | 4|0
Vi+ | +]4 | O# Al

(A) (B) (C) (D)
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88.

89.

90.

91.

92.

93,

94.

Which is the highest peak of Uttarakhand—
(A) Trishul (B) Nanda Devi
(C) Chogori (D) Neelkanth

‘Operation Surya Hope” is related to which state—
(A) Uttarakhand (B) Uttar Pradesh
(C) Bihar (D) Tamil Nadu

Who was appointed as a Nodal Officer for
Relief and Rescue operation in Uttarakhand—
(A) V. K. Joshi

(B) V. K. Sharma

(C) V. K. Thapliyal

(D) V. K. Duggal

Hon. Govemor of Uttarakhand is appointed by—
(A) Chief Minister of Uttarakhand

(B) President of India

(C) Prime Minister of India

(D) Home Minister of India

Who led the Chipko Movement—
(A) Gaura Devi

(B) Chandi Prasad Bhatt

(C) Govind Ballabh Pant

(D) None of them

*Ansuiya Prasad Bahuguna® is also known
25—

(A) Gandhi of Uttarakhand

(B) Garh Keshari

(C) Viaksh Manav

(D) None of these

Kalsi Inscription is related to—
(A) Emperor Chandra Gupta
(B) Maurya Emperor

(C) Emperor Ashok

(D) None of them

88.

89.

90.

91.

92.

93.

94.

14
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TAUETS H GEY Sl gl 6—

(A) Brga (B) == &l

(C) T (D) r®ve

‘IO g4 BT fee Wiy § watad g
(A) SHUETS (B) ST eI

(C) faer (D) affeTg

e g & w9 9 Frge e @ a—
(A) &Y. &, Sy

(B) 4. &. i

(C) 91. &. auferara

(D) 41. &. A

ITEYE & HI. TSUUTT I B FgFT Har o—
(A) TTEYE & FEAnaAl g}

(B) Tregafa &R

(C) vear=H=T &

(D) 9T & TeHA! B

T seae &1 Agw feee far—
(A) T

(B) 91 yHIG WeT
(C) Tfa= Ieay 9=
(D) & & &g 7@

‘TG THIE SO I o SR A | S
AT 8-

(A) TGS & el & 99 §

(B) Te@Ed & AW ¥

(C) 341 wI-g & 99 |

(D) T8 | FIE &l

FHral & eee fFae et 8-
(A) HHIE T2

(B) #id g

(C) TuRe HeE

(D) =78 | @i
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95.

Name of Kumaon in Purana’s—
(A) Kedarkhand

(B) Uttarakhand

(C) Uttranchal

(D) Manas Khand

Note : (Q. No. 96 to 100) Read the following

96.

97.

98.

99.

100.

figure and give suitable answer from
given options.

%43) 17 /

In figure triangle represents doctor, circle
is represents players and rectangle is
represents artist, then—

How many artists and players are doctors—
(A) 6 (B) 8
©) 4 (D) 3

How many artists are players—
(A) 30 (B) 29
©) 25 (D) None of these

How many artists are there who are neither
players nor doctors—
(A) 29
(©) 22

(B) 30
D) 8

How many doctors are there who are neither
player nor artists ?
(A) 17

(OR

() 30
(D) 17

How many players are there who are neither
artist nor doctor—

(A) 22
(©) 25

(B) 4
®) 3

15

SET-A

95. Uil § FAS & fEE AW F AT STAr gr—-

e

96

97

98

9.

(A) FEES
(B) TTIETE
(C) STviad

(D) AFEETE

: (997 E. 96 § 100 %) TS 9 & f7rQ
Frrifera sgpfer @1 sremae w1 SR Sham
Epid

S

R Brae sfeed @, ga faafyar

H AUT AT HATHRI HI Taiid Har
A
frae Feer wd fEwrer St E 2
(A) 6 (B) 8
(C) 4 (D) 3
e wemer faars €—
(A) 30 ' (B) 29
(C) 25 (D) &9 9 3% el
oo TR UF ¥ S 9 df fEE § @i T
erer—
(A) 29 (B) 30
(C) 22 (D) 8

fha Sty U8 B & 9 o1 faarg ¥ o =
FAEN ?
(A) 17
(C) 8

(B) 30
(D) 17

100.%3%?@@@@%6&#&%{?%@:{

BFT—
(A) 22 (B) 4
(C) 25 (D) 3
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SET-A

PART—2 / 9I71—2
Geography Section (Q. No. 101-150)
a (99 §E& 101 | 150 %)

101. Which District has the largest number of
Tehsil in Uttarakhand ?
(A) Almora (B) Champawat
(C) Rudraprayag (D) Bageshwar

102. Which of the following latitudes passes
through India ?

(A) Equator

(B) Arctic Circle

(C) Tropic of Capricorn

(D) Tropic of Cancer

103. Which of the following is the correct
chronological order in the formation of the

following states in India ?

(1) Sikkim

(2) Mizoram

(3) Goa

(4) Arunachal Pradesh
(A) 3,1,2,4 (B) 1,2,3,4
(C) 1,2,4,3 D) 1,4,2,3

104. Water body that separates India and Sri Lanka
is—

(A) Pak Strait
(C) Great channel

(B) 8 degree channel
(D) 10 degree channel

Koyana river is tributary of—
(A) Krishna (B) Narmada
(C) Kavery (D) Sabarmati

In which of following state/states mangrove
forest is found ?

(A) Odisha (B) West Bengal

(C) Tamilnadu (D) All of the above

Which of the following regions does the
Bushmen tribe belong to ?

(A) Kalahari Desert (B) Siberia

(C) Arabian Desert (D) Canadian Tundra

105.

106.

107.

16

101. SOU@Es & 69 992 § 999 afas qedie
g7
(A) ST (B) =I=mad
(C) TEgamt (D) arga
102. i & & M A1 ey WA & o
g7
(A) e @
(B) smfed g
(C) H&FT @1
(D) F& T@r

103. 9a ® F=feiEa o0 & e & 980 %Y

FTE ?

(1) fafFry

(2) firsiie

(3) T

(4) srovTEE g9
(A)3,1,2,4
(C©) 1,2,4,3

104. 9T SR e F FAT FE G TARY
FHAEE ?

(A) U FAH (B) 8 feift o=

(C) I T7= (D) 10 feIit F=ar
105. Fra=T =8 5 w1t @ gmEr ® 2

(A) &1 (B) wHar

(C) Tl (D) qrE

106. F=foias & F v Teg/asal & 39 a9 9
g E ?
(A) w€rar (B) uf$em e
(C) Ty (D) vugF # & i
107. ggi gota Fr=fafes & & f5g 43 3
g € ?
(A) FTTETd HERgw  (B) @rsafian
(C) o9 g5ega (D) &6 98
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108. Israel has borders with—

(A) Lebanon, Syria, Jordan & Egypt
(B) Lebanon, Syria, Turkey & Jordan
(C) Cyprus, Turkey, Jordan & Egypt

(D) Turkey, Syria, Irag & Yeman

Which of the following longitudes
determines the Indian Standard time ?
(A) 85.5° East .(B) 86.5° East
(C) 84.5° East (D) 82.5° East

Among the following Union Territories of
India, which one has the largest size 7
(A) Pondicherry (B) Lakshadeep
(C) Daman & Diu (D) Chandigarh

Jharkhand doesn’t share boundary with—
(A) West Bengal (B) Odisha
(C) Chhattisgarh (D) Madhya Pradesh

The states which have common boundaries
with China are—

(1) Jammu & Kashmir

(2) Sikkim

(3) Arunachal Pradesh

(4) Himachal Pradesh

109.

110,

111.

112,

(A) 1,3,4 (B) 1,2,3
(C) 1,2 (D) 1,2.3,4
113. The Tropic of Cancer passes through—
(1) Gujarat (2) Jharkhand
(3) Assam (4) Mizoram
(A) 1,2,4 B) 1,2
(C) 1,3,4 (D) 1,2,3.4

114, Port Blair is located in which one of the
following states ?
(A) North Andaman  (B) Little Andaman
(C) Middle Andaman (D) South Andaman

115. What is Hebrew ?
(A) An animal (B) Language
(C) River (D) Plant

116. Which vegetation is called Natural Cattle
County ?

(A) Savannah (B) Downs

(C) Selvas (D) Prairies

17

SET-A
108. zaEe @ Gm et 2 i e gy -
(A) &9, Hiftan, aE, by
(B) W&, Hifkan, g, e
(C) 6r=y", g, sireq, fas
(D) g, Hifan, e, I
109. fr=tfeiag § & &9 @ 9T @1 9Eg
UHE G99 & i w2
(A) 85.5°qd (B) 86.5°qd
(C) 84.5°4d (D) 82.5°7d
110. Fr=fafas SweenfaT &= § gaitas 921 sEn
foraar & 7

(A) Tfvead (B) @&EN
(C) =89 3 &1 (D) 9Ere
111. @ & TA e 9 =9 T8 w0 e
(A) ufggq I (B) wEmm
(C) e (D) T 9397
112. Fr=fataa & @ f6 geal & 9 99 & 9y
AT E 7
(1) 5 3R e
(2) Fafasa
(3) SAEOITER YT
(4) e W
(A) 1,3,4 (B) 1,2,3
(€) 1,2 D) 1,2,3,4
113, T a1 ftafas 3 & fofm vai & o & 7
(1) = (2) F@E
(3) I|q (4) feiE
(A) 1,2,4 B) 1,2
(€) 1,3, 4 (D) 1,2,3,4
114. U7 =R fohg €0 W safea & 7
(A) T00 J"sqE  (B) WY v=HM
(C) e 3vsq™ (D) =ferft stoeam
15 S F®TE 7
(A) T AHT (B) st
(C) & (D) e
~ 116. 9 |1 gl & Wigfas wrme FEl A
g7
(A) |amT (B) =5
(C) Ty (D) YTl
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117. World’s maximum Uranium reserve is

located in—
(A) Canada (B) Niger
(C) Nigeria (D) Zaire

118. Amsterdam is famous for—
(A) Fishery (B) Cutlery
(C) Diamond Cutting (D) Chemicals

119. Soo canal links lakes—
(A) Superior-Huron (B) Erie-Ontario
(C) Huron-Erie (D) Superior-Michigan

120. Two volcanic islands in Indian territory are—
(A) Kavaratti & Newmoore
(B) Great Andaman & Little Nicobar
(C) Pamban & Barren
(D) Narcondam & Barren

121. Which country is the largest producer of
Natural Gas—
(A) Saudi Arabia (B) Venezuela
(C) Russia (D) USA

122. Match the List I with List 1I and select the
correct answer using the codes given below—

List-1 List- I

(a) Pune (1) Pearl Fishing

() Tuticorin (2) Automobile

(c) Pinjor (3) Ship Building

(d) Marmagao (4) Engineering Goods
Code— (@) ) (0 (@

A) 1 3 4 2

B) 2 1 4 3

€ 1 2 3 4

D) 4 1 3 2

123. Gangotri glacier and Santopath glacier are
located in which region—
(A) Kumaon Himalayas
(B) Garhwal Himalayas
(C) Nepal Himalayas
(D) None of these

124. *Pari Tal’ is located in—
(A) Dehradun (B) Uttarkashi
(C) Bageshwar (D) None of these

18

SET-A
117. fagg & fm &1 qaffas wvsr sEfas
o

(A) FTeT ° (B) T b
(C) Argsiiiear § (D) S H
118. T=g2Ey TFafea uiag & 7
(A) T (B) &zl
(C) & Tam (D) WET
119. F 7 fT Sl &1 Siger & 7
(A) gifRm—e=  (B) 30—3iraRar
(C) TE—38 (D) gt
120. WREE &3 | Haked @@ 29 e—

(A) FATH AR R

(B) Iz 3U=H IR 7Y HUSHH
(C) T 3R

(D) IREUZH 3T

121. wrgfoa | &1 walfaes e S ara O
T

(A) IF4T 3RE (B) d-sa

(C) &8 (D) g T 3R
IR AR MFE AT TR T T

B gEl I 9 = 0 %7 |e e #5i—

i 1 LGl

(@) g1 (1) Hreft sirert

(b) BT (2) STEMETS

GREEIR (3) e fomfor

(d) wmata (4) gefiwafeT a5y
F— (a) (b) (c) (d)

(A) 1 3 4 2

B) 2 1 4 3

©) 1 2 3 4

(D) 4 ] 3 2

123. T TR R gy o Y A
feam &
(A) FATS, feame |
(B) Tearm feag &
(C) Fure femmey &
(D) T & = 78

124, ‘o 99 fegg &—
(A) ZE0gT §
(C) sriyan ¥

(B) TTaEh |
D) FHFFEA
06(Genera



125. Famous tilari maidan is situated on the bank
of which river ?
(A) Kali (B) Pinder
(C) Ram Ganga (D) Yamuna

126. Idukki, a significant producer of cardamom,
is situated in—
(A) Andhra Pradesh (B) Kerala
(C) Orissa (D) Tamilnadu

127. Match the List I with List II and select the
correct answer using the codes given below—
List - I (Uranium centres) List - IT (States)
(a) Domaisat (1) Rajasthan
(b) Lambapur (2) Karnataka

(¢) Rohail (3) Meghalaya

(d) Gogi (4) Andhra Pradesh
Code— (a) )] () (d)

(A) 3 4 1 s

B) 2 1 3 4

< 1 3 4 2

(D) 4 2 3 1

128. Match the List I with List IT and select the
correct answer using the codes given below—

List -1 List - II

(a) Deegha (1) Tamilnadu

(b) Gopalpur-on-sea (2) West Bengal

(¢) Kalangut (3) Orissa

(d) Marina (4) Goa
Code— (@) () (0 @

A 1 2 4 3

B) 2 3 4 1

€ 2 1 3 4

(D) 4 3 2 1

129. Dandakaranya lies in—
(A) Chhatisgarh and Madhya Pradesh
(B) Chhattisgarh and Orissa
(C) Jharkhand and Orissa
(D) Andhra Pradesh and Orissa

Which one of the following is not correctly
matched ?

130.

(A) Jawahar Sagar — Rajasthan

(B) Nagarjuna Sagar — Andhra Pradesh
(C) Siva Samudram — Kerala

(D) Gandhi Sagar ~ — Madhya Pradesh

19

SET-A
125. yfag foendl fem frm 98 & famr fem

T2

(A) Freil (B) fuex

(C) T (D) Tt
126.§Frreﬁﬁ & WAyl RS TgE Srred

(A) 3Ty yer (B) &t |

(C) wgran (D) afmaig o

127 ﬁﬁ&ﬁn&ﬁﬁﬂ%q&wmwm
qar 1 agr g4t 1l emaﬂﬁanaﬁ—

m%ﬁ) T 11 (™7
Ez:; 2 o

FWHF (2) FHES

(c) TEw (3) T
(d) Ty (4) sfg R
T— @ B  © @
(A) 3 4 1 2
(B) 2 1 3 4
© 1 3 4 2
(D) 4 2 3 1

128. 99 Y 13 HE F ¥ 98 9 #1994 &E
g0 e 1 e g 1 & &8 P &

gl 1 (ArR gfas) I (=)
(a) g (1)
(b) Trrcrmgt«'ﬂwﬁr (2) Uiy ST
(c) FHAE (3) wErm
(d) 7T (4) T
H— (@) (b) () (d)
(A) 1 2 4 3
(B) 2 3 4 1
© 2 1 3 4
(D) 4 3 2 1
129. TUZERYG FAfed §—
(A) BUHIE UG HET Yo H
(B) sirerTe Ud IR A
(C) r@Ee ug I o
(D) = Ye3r ud SEEr |
130. gmﬁﬁa-cr ¥ B U 9 gAted TE
7
(A) TERX §O —  {oWEE
(B) AFTSA ¥R — 3T ¥aW
(C) fora s — &
(D) Tifelt IR —  ¥E WR¥
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131.

132.

133.

134.

135.

136.

Which state has almost monopoly in
production of chromite in India—

(A) Bihar (B) Karnataka

(C) Maharashtra (D) Orissa

Which one of the following states of India has
international boundary on its three sides 7

(A) Assam (B) Nagaland
(C) Tripura (D) West Bengal
Takla Makan desert lies in—

(A) Afghanistan (B) China

(C) Kazakhstan (D) Mongolia

Kavery Wild Life Sanctuary located in which
state ?

(A) Keral (B) Tamilnadu

(C) Karnataka (D) Sikkim

If we go from equator to the poles, the value
of ‘g’ will—

(A) Decrease

(B) Increase

(C) Remain unaffected

(D) Becomes zero at poles

Photochemical smog is also known as—
(A) Classical smog

(B) Oxidising smog

(C) Reducing smog

(D) None of these

137. Match the List I with List II and select the
correct answer using the codes given below—
List - I List - 11
(@) Windohoek (1) Kenya
(b) Accra (2) Namibia
(¢) Nairobi (3) Ghana
(d) Lusaka (4) Zambia
Code— (a) (b) () (d)
(A) 1 2 3 -
(B) 2 3 1 4
© 3 2 4 1
(D) 4 3 2 1

138.

Africa’s highest mountain peak Mt.
Kilimanjaro lies in—
(A) Kenya

(C) Tanzania

(B) Malawi
(D) Zambia

131.

132.

133.

134.

135.

136.

SET-A
frifera § & frg o9 & wmiEe S9ted §
T UHTEFT & 2

(A) feer (B) FAE

(C) merTss (D) sgr

aRa & Feited osal § 9 FEe 99 T
siaem g B

(A) (B)mm%-c:'

(C) =g (D) ufs=m g
(A) T 4 (B) 99 ®

(C) FarEaH | (D) Hiferar §

%7

INEZGR: (B) afgang &

(C) FAleTF # (D) Tafery

fagaa @ & gai # AR 99 W ‘g’ &
‘q‘lq'__

(A) g2

(B) F&

(C) swfaa &

(D) g W L & S

YHT-TEAE GH-FRed 56 A 97 S
EICIRS

(A) o= quEry

(B) SATRITEHR EH-HIET

(C) S9T9TEas gH-HEn

(D) =79 & *rE 7

137. 31 1 o1 g1 11 & gafow o e 41 g 1@
H el o g —
LiGiR! it 1
O REERED (1) F=1
(b) ST (2) =mrtean
(c) T (3) =T
(d) TEH (4) smfar
H— (a) (b) (¢) (@)
A) 1 2 3 4
(B) 2 3 1 4
(C) 3 2 4 1
(D) 4 3 2 1
138. 3Rl %1 Har=a 9dq fSraX Hiee fefeman

20

AT B—
(A) F=a1 §
(C) Teartar §

(B) qamdr o
(D) winfear &
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139. The Inuit people are not found in—
(A) Alaska (B) Greenland
(C) Canada (D) Sweeden
140. In which state the monsoons arrive first ?
(A) Assam (B) West Bengal

(C) Maharashtra (D) Kerala

141. Which one of the following is the largest
inland waterways of the country ?

(A) Kakinada — Marakkam

(B) Kollam — Kottapuram

(C) Sadia — Dhubri

(D) Allahabad — Haldia

142. Andhra Pradesh was created as a linguistic
state in—
(A) 1950
(C) 1956

(B) 1953
(D) 1961
143. Match the List I with List II and select the
correct answer using the codes given below—
List -1 List - IT
(a) Brajraj Nagar (1) Cement
(b) Kaimoor (2) Fertilizer

(c) Haldia (3) Petrochemical

(d) Phoolpur (4) Paper
Code— (a) (%) (c) (@)

A 1 2 3 4

B) 3 4 1 2

(C) 4 1 3 2

(D) 4 3 2 1

144, Which amongst the following States/UTs in
India has the largest percentage of its
geographical area under forest cover ?

(A) Tripura

(B) Andaman and Nicobar
(C) Nagaland

(D) Mizoram
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139, T2 @1 E U A E—

(A) TR | (B) TaE

(C) Fmer | (D) drza |

140. YRG & &0 799 | 9FEA & A q9d

e BT & 7
(A) o899 (B) qﬁﬂqﬁ T
(C) A=y (D) &=

141. F=fafEg & & 297 o1 999 w1 AERE
FAEHE FF AT E ?
(A) FTHMTET — TEFHH
(B) FIF — HIZATH
(C) wfear — galt
(D) TameETE — Efeaar

142. 3719 YS9T U 9WIE 59 & &9 7 i fFar

TT?-'IT—
(A) 1950 & (B) 1953 |
(C) 1956 ® (D) 1961 &

143. g1 1 &1 g1 11 & gAfoa &L a1 4™ g ™
%2 | W I Y-

Tt 1 g
(@) T TR (1) gz
(b) F5 (2) ¥h&
(c) &fean (3) Ug-TEE
(d) T (4) &=
FHZ— (a) (b) (c) @
A 1 2 3 4
(B) 3 4 1 2
(C) 4 1 3 2
(D) 4 3 3 1

144. 7 8 § 9T & 6w Toa a4 & @ St
85 T ATTHAH W 99 AT © 7
(A) Brga
(B) 399 ug faEr
(C) ArmevE
(D) e
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145. Which one of the following is not a correct

statement ?

(A) Cocoa cultivation is popular in Ghana

(B) Coffee is an important plantation crop
in Brazil

(C) Sri Lanka is famous for the production
of Tea

(D) Sugarcane is the major pilantation crop
of Malaysia

146. Match the List I with List II and select the
correct answer using the codes given below—

List -1 List - 11
(a) Mineral Qil (1) Orissa
(b) Zypsum (2) Karnataka
(¢) Gold (3) Gujarat
(d) Bauxite (4) Rajasthan
Code— @ () () (@
(A) 3 2 1 4
By 2 1 A 3
(C) 4 3 1 2
(D) 3 4 2 1

147. Which of the following rivers have almost
the same point of beginning—

(A) Brahmaputra and Ganga

(B) Tapi and Beas

(C) Brahmaputra and Indus

(D) Indus and Ganga

The local time of a place is 6.00 a.m. when
the Greenwitch Mean Time is 3.00 a.m. What
is the longitude of the piace ?

148.

(A) 45°W (B) 45°E
(C) 120°E (D) 120°W
149. Which one of the following Indian rivers
form an Estuary ?
(A) Godavari (B) Kaveri
(C) Tapi (D) Mahanadi

150. Which of the following Indian islands lies
between India and Sri Lanka ?
(A) Elephanta (B) Nicobar

(C) Rameshwaram (D) Salsette
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146. T 1 %1 T 11 & gfer T qar 99 &g

e ¥ el W gHa—
&t I gl 11
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(b) o ) FAlw
() | (3) o
(d) diaTEe (4) THHIE
H— (a) (b) (c) (d)
(A) 3 2 1 4
(B) 2 1 4 3
(Cy 4 3 1 2
D) 3 4 2 1

147. e afedi & & faa 4 fag e
% & &—
(A) FETIF 3T 7
(B) @TdT 3R =
(C) w1y 3R g
(D) fg 3

148. {41 9718 =1 " 999 6.00 W Ewa
A 49 2Ew (Fomdr) soo wa: &1 @

(A) 45° ufgam (B) 45°vd
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149.??%%Hvﬁ?ﬁuﬁﬁﬁﬁa§nmaﬁw

T

(A) TETad (B) @ratr

(C) amdr (D) FeTEr

150. F=foiad wrdra 2f & & 9 a1 2 9w
(A) Tl (B) farram
(C) TsEs (D) g7&T
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151.

152.

153.

SET-A

Economics Section (Q. No. 151 to 200)
HEqrE (999 e 151 § 200 9%F)

Money multiplier in India is defined as—
(A) Broad Money / Base Money

(B) Broad Money / Reserve Money

(C) Reserve Money / Base Money

(D) Base Money / Reserve Money

‘Rastriya Vishesh Krishi Upaj Yojna’ is
mainly concerned with—

(A) Cash Crops

(B) Cereals

(C) Vegetables

(D) Exportable agricultural produce

The nodal agency for implementing the
‘Rural Infrastructure Development Fund
Programmes’ is—

(A) NABARD

(B) State Co-operative Bank

(C) Reserve Bank of India

(D) State Bank of India

154. National Horticulture Mission was launched

155.

in which of the following Five Year Plans ?
(A) Eleventh Five Year Plan

(B) Tenth Five Year Plan

(C) Ninth Five Year Plan

(D) None of the above

Consider the following statements with
regard to the Planning Commission (PC) and
Finance Commission (FC) and state which
of these statements is not correct—

(A) Both, the Planning Commission and the
Finance Commission are institutions for
the transfer of resources from Centre to
the States

(B) Recommendations given by both are
binding of the Government

(C) While PC is a permanent body FC is
constituted every 5 years

151.

152.

153.

154.

155.

(D) FC awards non-plan resources
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156.

157.

158.

159.

160.

161.

‘ADHAR’ is a programme—

(A) To help senior citizens

(B) To provide nutritional support to
adolescent women

(C) To train people for social defence

(D) To provide identity to Indian residents

Project ‘ARROW? is related with—

(A) Welfare of old scheduled tribal man
(B) A wing of the Armed Forces

(C) A standard of quality of garments
(D) Giving a new identity to post offices

Which South Asian Country has adopted
“Gross National Happiness” as an index of
the well-being of its citizens 7

(A) India (B) Bhutan

(C) Sri Lanka (D) Myanmar

When population experts refer to the possible

“Demographic Bonus™ that may accrue to

India around 2016, they are referring to the

phenomenon of—

(A) A surge in the population in the
productive age group

(B) A sharp drop in the total population

(C) A decline in birth and death rates

(D) A well balanced sex ratio

Which or:e of the following is not a constituent
of Human Development Index ?

(A) Health and nutrition

(B) Per Capita Income

(C) Life Expectancy at Birth

(D) Gross Enrolment Rate

Which one of the following forms the highest
share in household savings in India ?

(A) Deposits

(B) Currency

(C) Physical assets

(D) Share and debentures

156.

157.

159.

160.

161.
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162.

163.

164.

165.

166.

On the basis of size and composition of
external debt, World Bank has classified
India as—

(A) A moderately indebted country

(B) A less indebted country

(C) A heavily indebted country

(D) A critically indebted country

Which of the following is the. most important
component of the liabilities of Commercial
Banks in India ?

(A) Time deposits

(B) Demand deposits

(C) Inter-bank liabilities

(D) Other borrowings

Agriculture income tax in India can be levied
by—

(A) State Governments

(B) Central Governments

(C) Local Governments

(D) Central and State Governments

Under the National Rural Employment
Guarantee Programme the concerned rural
households are to be given job cards by—
(A) Gram Panchayat

(B) Gram Vikas Adhikari

(C) Block Development Officer

(D) Kshetra Panchayat

Which one of the following methods is used
by the India’s Central Bank for Quantitative
Credit Control ?

(A) Bank Rate

(B) Open Market Operations

(C) Cash Reserve Ratio

(D) All the above
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167.

168.

169.

170.

171.

172.

Which of the following are taken into
consideration by the Finance Commission of
India in the Distribution of resources between
the Centre and the States ?

(1) Tax sharing

(2) Grant-in-sid

(3) Debt relief -

(4) Relief for natural calamities

Select the correct answer from the code given
below. Codes—
(A) 1and 2
(C)1,2and 4

(B) 1,2and 3
(D) 1,2,3and 4

Which one of the following has not been the
part of land reforms programme in India ?
(A) Consolidation of Hoeldings

(B) Agriculture Holding Tax

(C) Removal of Zamindar System

(D) Maximum limit of land holding

Which one among the following is the largest
revenue earner for the State Government of
Uttarakhand ?

(A) Entertainment Tax

(B) Duty on sale of narcotics and liquor
(C) Passenger Vehicle Tax

(D) None of these

Which one of the following organizations in
India is concerned with industrial sickness ?
(A) NABARD

(B) Disinvestment Commission

(C) BIFR

(D) SIDBI

At which one of the following places the first
Export Processing Zone (EPZ) in private
sector was established ?

(A) Kandla (B) Vishakhapattnam
(C) Noida (D) Surat

SET-A

167. &= d&r T4 & 99 a9 daaei & $ean §

168.

169.

170.

171.

172.

The concept of Performance Budget has been
borrowed from—

(A) Germany (B) England

(C) U.S.A. (D) France
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173. Which of the following statements are correct ?
(1) Reserve Bank of India and State Bank
of India are statutory organizations.
(2) Both R.B.I. and S.B.1. existed at the time
of independence.
(3) R.B.L is a regulatory body.
(4) S.B.isengaged in commercial operations.
Select the correct answer from the codes

given below—

Codes— .

(A) 1and 2 (B) 1,2and3

(C) 1,3and 4 (D) 1,2,3and 4
174. Which one of the following crops is of Kharif

season ?7

(A) Soyabean (B) Linseed

(C) Lentil (D) Mustard
175. Non-performing assets in commercial banks

means—

(A) Bank deposits which are not invested

(B) Capital assets not in use

(C) Loans in which interest or principal
amount is not recovered

(D) Low-interest rate loans

176. Research and development of farm tools and
machinery are being carried out by Central
Institute of Engineering which is located at—
(A) Pant Nagar (B) Bhopal
(C) New Delhi (D) Ranchi

177. In S.T.P. concept ‘S” means—
(A) Segmentation

(B) Society

(C) Service

(D) Selling

178. Now, packaging has assumed importance
because—

(A) It provides protection to products

(B) It makes product attractive

(C) It increases credibility of the product

~ (D) It provides all the above

4]
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179.

180.

181.

182.

183.

184.

185.

The Bank rate is the rate at which—

(A) A bank lends to the public

(B) The RBI lends to the public

(C) The RBI gives credit to the commercial
banks

(D) The Government of India lends to other
countries

Which one of the following is the most
important item of expenditure of the Union
Government on revenue account ?

(A) Defence services (B) Interest payment
(C) Corporation tax (D) Income tax

Bharat Nirman includes—
(A) Rural housing (B) Rural roads
(C) Rural electrification (D) All the above

National Rural Health Mission was launched

in the year—
(A) 2005 (B) 2007
(C) 2009 (D) 2001

Financial inclusion be encouraged by—

(A) Issuing ‘Special Credit Cards’ to eligible
beneficiaries

(B) Extending banking services with ‘nil” or
minimum balance to low income people

(C) Extending financial services to low
income people

(D) All of the above

The interest rate at which the Reserve Bank
of India lends to commercial banks in the
short-run is known as—

(A) Interest rate (B) Bank rate

(C) Reverse repo rate (D) Repo rate

Of the following taxes which one is not levied
by State Government ?

(A) Entertainment Tax

(B) State Duty

(C) Agricultural Income Tax

(D) Corporation Tax
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186.

187.

188.

189.

190.

191.

192.

National Renewal Fund was instituted for the
purpose of—

(A) Restructuring and modemization of Industries
(B) Providing pension for retiring employes
(C) Social security

(D) Rural reconstruction

Nirmal Gram Panchayat Yojna aims at—
(A) Sanitary cleanliness

(B) Cleaning of ponds and other water bodies
(C) Provision of clean drinking water

(D) Environmental cleanliness

MP Local Area Development Plan was
started in the year—
(A) 1991
(C) 1996

(B) 1993
(D) 1998

What do we mean by the statement “India

has achieved national food security but has

not secured household security™ 7

(A) Each household does not have abuffer stock

(B) Food production has shown increase but
per-capita availability has decreased

(C) The number of people below poverty
line has increased

(D) There is sufficient food stock but all
households do not have access to it

Kissan Credit Card Scheme was announced

in the year—
(A) 2004-05 (B) 2000-01
(C) 1998-99 (D) 1995-96

The Ultra Mega Projects in India are—
(A) Hydro projects

(B) Coal based projects

(C) Gas based power projects

(D) None of the above

Brand value for a business is—
(A) Capital (B) Asset
(C) Profit (D) None of these
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193.

194.

195.

196.

197.

198.

199.

200.

The slogan of ‘Poverty abolition” was given
in which Five Year Plan ?

(A) Second Plan (B) Fourth Plan

(C) Fifth Plan (D) Sixth Plan

Govemnment of India, for the first time nationalized
14 large Commercial Banks in the year—
(A) 1956 (B) 1959

(C) 1969 (D) 1971

The distribution of finances between Centre
and States is done of the recommendation of—
(A) Finance Ministry

(B) Finance Commission

(C) Reserve Bank of India

(D) NABARD

The 1st Measure of India’s National Income
was made by—

(A) William Dighy (B) Dadabhai Naoroji
(C) M. G. Ranade (D) V.K.R. V.Rao

The importance of agriculture in Indian

economy is indicated by its contribution to

which of the following ?

(A) National income and employment

(B) Industrial development and international
trade

(C) Supply of food-grains

(D) All the above

PAN card issued by the Income Tax
Department cannot by used for which of the
following purposes 7

(A) Proof of address

(B) Proof of identity

(C) Proof of registered tax payer

(D) Proof of date of birth

In India maximum area under jute is in the
state of—

(A) Assam (B) West Bengal
(C) Bihar (D) Meghalaya

Reason for low-productivity in Indian

agriculture is—

(A) Engagement of more persons in
agricultural operations then needed

(B) Small land holdings

(C) Backward technique of production
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(D) All the above
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(A) foret wTEa Sl TS 9
(B) forer s a1 fadier
(,C)ﬁﬁﬁr%f&?aﬁrﬁmﬁww{
(D) e @i AERT |

Waﬁmmaﬁrwﬂwm

(A) fafeam fowaE 2 (B) A ER ISR
(C) wasTAE 20 (D) o | AR AL
¥ ¥ frg drEW | ST I 6 7

(A) TrE A T TR

(B) it famra dam SIS AR
(C) @ A

(D) STiET &4 &

wraEt fawm E o PAN & e | 2
e oeed @ fog wam e fEar S A

%7

(A) Td & JHT

(B) TET 61 FHTT

(C) WoiTd heaTar &l Y=
(D)mdﬁﬁt{aﬂm

wRa # ¢ & gATaE
(A) a9 T |
(C) ferw 7= &

. o
(B) iad & T
(D) Famea T |

qRA Y 3 e Seed F BT &
(A) FESTF | SifeE @ & HY we
(B) WTd & B TER

(C) sare® & fusdl aF%

(D) Sqte &4
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201.

202.

203.

SET-A

Political Science Section (Q. Ne. 201 to 250)
T STt (999 |Er 201 ¥ 250 OF)

The Constitution grants right against
exploitation of—

(1) Children (2) Women

(3) Tribals (4) Dalits
Choose the correct answer with the help of
given codes— )

(A) 1 and 2 only (B) 1 and 3 only

(C) 1,2and 3only (D) 2,3 and 4 only

Which one of the following is a directive

principle of State policy ?

(A) The state shall endeavour to protect and
improve the environment

(B) The state shall not deny to any person
equality before law

(C) The state shall not discriminate against
any person on grounds of religion, race,
caste, sex or place of birth

(D) Untouchability enforcement

What was the exact Constitutional status of

the Indian Republic on 26-01-1950 when the

Constitution was inaugurated ?

(A) A Democratic Republic

(B) A sovereign Secular Democratic Republic

(C) A sovereign Democratic Republic

(D) A sovereign Socialist Secular Democratic
Republic

204. Consider the following in the following

sequences—

(1) Cabinet Mission

(2) SIMON Commission

(3) Cripps Mission

(4) Poona Pact
(A) 1,2, 3 and 4 are correct
(B) 2,4, 3 and 1 are correct
{(C) 4, 3,2 and 1 are correct
(D) 3, 1, 4 and 2 are correct

201.

202.

203.

204.
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gfgam 1 8 | fems oo & faes

SR Egd HeaT -
(1) s=if % () =g &
(3) TeTteEt & (4) ol &

AT el Ie fo M e A W € g
(A)Faq 132 (B) 3d9 1 3T 3
(C) @aw 1, 2 3R 3 (D) Haw 2, 3 31 4

= 8 9 29 w19 & A PRy a= i §

afefera -

(A) T59 39T & YITETT & HIGOT 991 §au-
F JATH FHAT

(B) T~y Tt = &1 @ & |9e g9
AT G HET

(C) U9 fordll =t &1 o o, &, 9,
fo atgar o= w@W # AR w e

(D) IEYTTAT FT YA

YR TOTET N 26 AU 1950 HN HE!

T aegRaty @ &, s§ gfaue qn

foFan a2

(A) AiHAAHE oA

(B) =q0f 9 &9~ ¥ Fus sirasres
TR

(C) Tl Y& T AHaATE TR

(D) el Y@ ¥~ THeEE o R
AFAITE TR

fr=fafea & Femges © fEr #ifau-
(1) Ffaae =
(2) AEHA FHIGH
(3)1%@\&31:[
(4) T Y

(A)1,9 8aaT 4 581 %

(B) 2, 4, 3a9T 1 98 £

(C)4,3 2T 1 G &

(D)3, 1,474 2T %
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205.

206.

207.

208.

209.

The number of Lok Sabha members who can
table a “No Confidence Motion™ against the
council of ministers is—

(A) 30 (B) 40

(C) 50 (D) 60

Which one of the following is incorrect ?

(A) Fundamental Duties are the part of the
Fundamental Rights

(B) Fundamental Duties are not the part of
the Fundamental Rights

(C) Fundamental Duties are enumerated in
the part 1V-A of Indian

(D) Article 51A explains 10 duties of every
citizen of India

Which of the following articles of the Indian
Constitution guarantees equality of
opportunity to all citizens of India in matters
relating to public employment ?

(A) Article 15

(B) Article 16(1) and 16(2)

(C) Article 16(3)

(D) Article 16(3), 16(4) and 16(5)

Which one among the following pairs of
Articles relating to the Fundamental rights
cannot be suspended during the enforcement
of emergency under Article 359 of the Indian
Constitution ?

(A) Article 20 and 21

(B) Article 14 and 15

(C) Article 16 and 17

(D) Article 24 and 25

Election of the Office of the President is
conducted by—

(A) The Speaker of Lok Sabha

(B) the Prime Minister’s Office

(C) The Minister for Parliamentary Affairs
(D) The Election Commission of India

32

205.

206.

207.

208.

209.

SET-A
(A) 30 (B) 40
(C) 50 (D) 60

fr=fafea  § &9 7% Tad & 7

(A) o @i difas stasnt & = €

(B)ﬁmmaﬁmmﬁmﬂﬁ
3

(C) ardma Hiaa™ & unr - IV & ¥ difa®

(D) ST 51 A Y& 9™ AMHE & 10

adTg e % e el § 9 e
1 U s A & faug ¥ 9w § 3
AW &I SFAET FH G B FAYd 52H
FATE 7

(A) SIFHT 15

(B) a1g=T 16(1) 3R 16(2)

(C) =T 16(3)

(D) s =< 16(3), 16(4) TaT 16(5)

A st & 93 Frafafes a9=el &
g § § M UF 9RdE g6 & A
359 & el A feard @ FA F AN
e el & q%ar 7
(A) ST 20 AR 21
(B) 1T 14 3 15
(C) 3922 16 AN 17
(D) 31T 24 AW 25

eyl @ gAE e H § fFEE g it
fepar s -

(A) ¥k |91 & B &r

(B) 9=l & &R EW

(C) §8<a Hrd & w1 50

(D) wRa & fHar=a smarT zm
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210.

(a) Part IX of the
(b) Part VIII of the

(c) Part IV A of the

Match the List I with List II and select the
correct answer using the codes given below—
List - 1 List - 11
(1) The Union
Territories
(2) TheMunicipalities

Indian Constitution

Indian Constitution
(3) The Panchayats

Indian Constitution
(d) Part IX A of the (4) Fundamental
Indian Constitution = Duties
Code— (a) ) (c) (d)
(A) 3 1 4 2
B) 1 2 3 4
© 2 4 1 3
(D) 4 3 2 1

211.

212,

213.

214.

Who decides disputes regarding disqualification

of Members of Parliament ?

(A) The President

(B) The Concerned House

(C) The Election Commission

(D) The President in consultation with the
Election Commission

Which Article of the Constitution permits the
Supreme Court to review its own judgement
or order ?

(A) Article 137
(C) Article 139

(B) Article 130
(D) Article 138

Article 249 of the Indian Constitution deals

with—

(A) Emergency power of the President

(B) Dissolution of the Lok Sabha

(C) Administrative Power of the Parliament

(D) Legislative Powers of the Parliament
with respect to a matter in the State list

The first Amendment to the Constitution

carried out in 1951 related to—

(A) Security of the country

(B) Security of the Prime Minister

(C) Protection of agrarian reforms in certain
status

(D) Scheduled castes and scheduled tribes

SET-A

210. 3 1 &1 T 11 9 gofea T 7an A &g 1@

q ¥ I -
?@?gaﬁl Ch i 1
(@) 9RET w@aE (1) 99 89
& 9T IX
(b) WA "M (2) TRUTeE
1 97 VI
(c) ¥dg 8Fg= (3) 99
H 9T IV A
(d) 9 g (4) 97 FWa
& U IX A
F— (a) (b) (c) (d)
A) 3 1 4 2
®B) 1 2 3 4
(C) 2 4 1 3
(D) 4 3 2 1
211.?@%%@@%%%%
87
(A) Tt
(B) gaf~ea §ae
(C) Fafaw amm
(D) fratas smarT & wmst & T
212. SRAGTE H T G ATHL IeAqq AT B
8 2w fRw e fFofg sree sy & e
&g aftrga Far & 7
(A) ST 137 (B) 31T 130
(C) 3r=3g 139 (D) 38T 138
213. 9RAT GfOaE & Fgse 249 FElUd
o
(A) Tgufa & SATTaEE el §
(B) qasT & fages &
(C) 98T & ysmaie gieadl §

214.

33

(D) 79 gt & fawdl & @ § dag 1
feremdl srieral @

FE & 99 Wi S 99 1951 § qiRa

g = | 9 Tomw geafram a1

(A) 97 % geen ¥

(B) Y& @l g &

(C) TB T 7 b 10 Y 7 - it

& T ¥

(D) STt S e SRR S A
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215.

216.

217.

218.

219.

220.

221.

Under the Preventive Detention a person can
be detained without trial for—

(A) One month (B) Two months

(C) Six months (D) None of these

Which provision relating to the Fundamental
Rights is directly related to the exploitation
of children ?
(A) Art. 19
(C) Art. 24

(B) Art. 17
(D) Art.23

The Constitution of India does not contain
any provision for the impeachment of—
(A) The President

(B) The Governor of a State

(C) The Chief Justice of India

(D) The Vice President of India

By which one of the following Constitutional
Amendment Delhi has become ‘National
Capital Region’—

(A) 61st Amendment (B) 69th Amendment
(C) 71st Amendment (D) 79th Amendment

Which is the only state in India to have the
Common Civil Code ?

(A) Jammu and Kashmir

(B) Mizoram

(C) Nagaland

(D) Goa

How many type of emergencies have been
envisaged under the Indian Constitution ?
(A) Two (B) Three

(C) Four (D) One

Which of the following is correct ?

(A) The Nehru Report (1928) had advocated
the inclusion of Fundamental Rights in
the Constitution of India

(B) The Government of India Act, 1935
referred to Fundamental Rights

(C) The August offer, 1940 included the
Fundamental Rights

(D) The Cripps Mission, 1942 referred to
fundamental Rights
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215.

216.

217.

218.

219.

220.

221.

SET-A
frafreg g9 & ofafa s @i & famn
YA TET S I TET S Fhal e—
(A) TF A8 F (B) 31 9E TF

(C) B: 918 T (D) =94 | & 7@
Hifwe AUFER & A HF a1 TG@E aed
& ST F e gt § 7

(A) ST 19 (B) sg=e 17

(C) 1g=T 24 (D) &g 23

U & g | = | § fras fasg st
A H AU T g

(A) TSI &

(B) T & QU &

(C) 9Ra & q&A —raTdisT &

(D) 9E & SISy F

=1 wifger Syl § & 59 o & siaa
et “Syree Hiea & T 7

(A) 6131 Hales (B) 69a HeMe

(C) iai wsmesr (D) 79a1 HeMe

qd | i UF 1 9 & T8l FE e
FE AL © ?

(A) 9 ud FPR

(B) fmies

(C) ArTTevE

(D) T

YA \AOUH & 3T fha Y & Aaa
FIAFE ?
(B) 9

(A) &
(D) T&

(C) Ix

e s dda T o a8 & 2

(A) 9 g | g sifear 3t s
0 & fow J56 U 1928 9 guds
forar ar |

(B) 9a W&R Afufwa, 1935 F @
sttt & g far ar)

(C) 31THT W&dTE, 1940 3 4w sifersr enfae
foro &

(D) g fasm, 1942 X 9w siftrrl &1y
fear &ty
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222,

223 .

224.

228S.

226.

2217.

The 79th amendment of the Indian

Constitution is related to—

(A) Centre-State relations

(B) Establishment of two political parties

(C) Fundamental Rights

(D) Reservation of SCs and STs in the Lok
Sabha and State Assemblies

The first session of the Constituent Assembly
was held on— ‘

(A) 16th August, 1947

(B) 26th January, 1948

(C) 9th December, 1946

(D) 26th November, 1946

The office of the Deputy Prime Minister—
(A) Was created under the original constitution
(B) Is an extra-constitutional growth
(C) Was created by 44th Amendment
(D) Was created by 85th Amendment

Who of the following has called Indian
federalism as Co-operative Federalism ?
(A) K. C. Wheare  (B) Sir Ivor Jennings
(C) G Austin (D) D.D. Basu

Which one of the following statements about
“Directive principles of State Policy™ has
been mentioned in the Indian Constitution is
not correct—

(A) They are positive

(B) They can be enforced by Courts

(C) They make Indian a welfare State

(D) State has a duty to implement them

The term “Assuring the Dignity of the

Individual™ has been mentioned in the Indian

Constitution—-

(A) As Fraternity objective in the Preamble

(B) As one of the functions of the Supreme
Court of India

(C) Asone of the Principles of the Directive
Policy

{D) As a corollary of Right to Equality

222,

223.

224,

228.

226.

227.
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SET-A

adrg "fgam @ 79a Hweew grafad

g_

(A) &% 59 & Fe=e) 4

(B) &1 TSI I@l &1 T9AT §

(©) T st 3

(D) w1 F1 AR T ferert gl # srqgfee
Sl we SR SHedl & SR §

Hiaem™ 991 1 9 qF g AT
(A) 16 37TE, 1947 &l
(B) 26 Fal, 1948 &t
(C) 9 fewwaw, 1946 =i
(D) 26 awT, 1946 &

II-GUFHAT 92 B G-

(A) 9 Giaa™ & Siarfa g a1
(B) dfoem & WEE A BT &I
(C) 443 HMEH & BRI &30

(D) 859 |IMMEM & GRI &3

=1 4 & fo5g o 3 9Rdg FHae # geEn
EATE R8T & 7

(A) &. G A (B) T St A= |
(C)sf. arfEm s (D) & & Sg A

g % Afg-Feye e § gt =

FIA H G HF AT UF GE S & ?

(A) ¥ THERHF &

(B) % =mred g @ fean o @
N

(C) ¥ 9RE &I T&H FUEHN 99 T4
g

(D)ﬁmmmwzﬁﬁm%

WA WaeT § e 1 T &1 Aas

FE & 91T FTE TE B—

(A) o | 9% I F 599 & &9 H

(B) I=aq" G & U &4 & ¥4 H

(C) 1 & ug g e aa & &9
¥

(D) T & ATFR & TF Fe-Aa5gHal
F w7 H
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228. Who is the author of the book ‘“Who are
Shudras’ 7
(A) Dr. B. R. Ambedkar
(B) Mahatma Gandhi
(C) Devraj Urs
(D) None of these
229. Who of the following is credited with the
establishment of the University Grants
Commission ?
(A) Jawaharlal Nehru
(B) Ram Manohar Lohia
(C) Abul Kalam Azad
(D) Lal Bahadur Shashtri
230. Consider the following statements and select the
correct answer using the codes given below—
(1) A Money Bill can not be introduced in
the Rajya Sabha.
(2) Rajya Sabha can reject a Money Bill.
(3) Rajya Sabha have to be returned money
bill within 14 days to Lok Sabha
(4) There is a provision of the joint sitting
of the Lok Sabha and Rajya Sabha in
case of disagreement over a money bill.
Codes :
(A) 1 and 2 are correct
(B) 3 and 4 are correct
(C) Only 4 is correct
(D) 1 and 3 are correct
231. The words ‘armed rebellion’ were substituted
for ‘internal disturbance’ in Article 352, by
the—
(A) 24th amendment (B) 36th amendment
(C) 42nd amendment (D) 44th amendment
232. The President of India can be removed from
his office only on the ground of—
(A) Proved Misbehaviour
(B) Incapability
(C) Violating the Constitution
(D) Disobedience of the Parliament

SET-A
228. ‘g IR e 9% frare feae fo@r 2
(A) 2. 91, AR FzH
(B) WeTAT T
(C) TaT= oH
(D) =94 ¥ FE TE

229. fasafaamad TR SR WO H 49
fedfadfm s Raramr s ?
(A) TETET T -EE
(B) T TR difear
(C) TgT FAH TS
(D) wTe geIgt I

230, Ffataa wae ) faEr i qar o |

& %z % & 98 IO &1 999 Fia—

(1) g=-[a9ges T~F |91 § Y& 78! fohar o7
FEFAT |

(2) T 9T o fardas St &Y | © |

(3) 5T 997 FI a4 s, @ 99 F 14
o7 & ST a9y HET BT B

(4) 75T |YT 99T 6 9 F 97 [TEaE W
gﬂﬁzﬁﬁuﬁﬁﬁgﬁﬁmmw

{

@ﬁ_

(A)1 SR 2 |El €
(B) 8 3 4 g8 &
(C) ®ae 4 §ET &
(D) 1 3T 3 G&r &

FTBT 352 H ‘ATORE N P WH W
quer g = fre dfem 9aee 9 8
fore @& & g e fRg @ & o

231.

(A) 249 (B) 36d
(C) 429 (D) 443
232. YA &1 Al 399 ue 4 f=y fifafeat 4

ﬁﬁ;@%%aﬁwmmwm%—
(A) @ ,

(B)mg?fm

(C) Te= & Iewge

(D) 992 & ==

36

06(General)/A




233.

234.

235.

236.

237‘

The 52nd Amendment of the Constitution
made on 1985 added 10th Schedule. It
pertains to—

(A) Panchayati Raj

(B) North-Eastern States

(C) Disqualification on ground of defection
(D) Extension of Reservation provisions

Which one set of the following States has
only one representative each in Lok Sabha ?
(A) Manipur, Meghalaya

(B) Himachal Pradesh, Jammu & Kashmir
(C) Arunachal Pradesh, Tripura

(D) Mizoram, Nagaland

Who among the following is known as the
Guardian of the ‘Public Purse’ in India ?
(A) The Comptroller and Auditor General
(B) The President

(C) The Minister of Finance

(D) The Parliament

Which one of the following is not an

expenditure charged on the Consolidated

Fund of India ?

(A) Debt charges for which Government of
India is liable

(B) Salary and Pension of the Member of
Election Commission of India

(C) Pension payable to the judges of High
Courts

(D) Allowance of the Deputy Chairman of
the Council of States

The cardinal features of political system in
India are—

(1) It is democratic republic.

(2) Ithasa parliamentary form of government.

(3) Supreme power is vested in the people

of India

(4) It provides for a unified authority.
Select the correct answer using the codes
given below. Codes—

(A) 1and 2 (B) 1,2and 3

SET-A
233, 1985 ¥ Uiiia |aem & 524 Hygw 3 @dl
gt A€ | TE Hefe B
(A) Sl T F
(B) TER-gdt T4l |
(C) & uftadT & SR uw fdar
(D) et wifaer & faar |

234, Fy=fatias woai & wyel | @ g uF o vaE
T A it dE g ® o2

(A) wforge, HETEE

(B) femmae wew, =] ud &9

(C) srevmas wesT, Brga

(D) i |'3iiU|, :"‘”auo

ured § s § & B O Wi 99 A G
ST ST § 7

(A) wererar s 1d wEE

(B) Tsgafe

(C) fam w=i

(D) ¥8%

236. f=fafes § 9 39 91 UF 9Wd # §hd

?ﬁﬁmmﬁwaﬁmﬁquﬁf
?
(A) & T ST IR R I G ©
(B) g & fafes o & 95w § 999
R Y9
(C)ﬁ}@m@%ﬂmﬁﬂsﬁﬂ%ﬁmﬁmﬁ
™

(D) 7T |97 & SUTEAY & W

235.

237.;&3&?@%?5%%%%6@
(1) T& UF iHai=s Ta= & |
(2) 398 HOETHE €9 B TER &
(3) HateT TET 9T & ST § AT &)
(4) 9% UF T gfEa & wiaus & ©
9 @ @ gz ¥ ¥ W o @ 9m
FIT | FHE—
(A) 1 3R 2
(C) 2, 3 3R 4

(B) 1, 2 3R 3
(D) |1 9w

(C) 2,3and 4 (D) All of the four

37

06(General)/A




238. Who wrote ‘My Experimental with Truth’—
(A) V. P. Singh (B) M. K. Gandhi
(<) J.B (D) None of these

239, The Union Parliament can also legislate on
a subject of State List—

(1) To give effect to international agreement.

(2) With the consent of the state concerned.

(3) During President’s rule in the state.

(4) In the national interest, when Rajya
Sabha passes a resolution to this effect
by a 2/3rd majority.

Select the correct answer using the codes
given below—
Codes—

(A) 1,2 and 3

(C) 1,2and 4

(B) 2,3 and 4
(D) All of four

240. Consider following statements and state
which of them is/are correct with the help of
given codes—

(1) The term ‘Union of States’ has been used
in the Constitution because Indian States
have no right to recede.

(2) The S. K. Dhar Commission preferred
reorganization of States on administrative
convenience rather than on linguistic basis.

(3) The Congress Committee under Pt.
Nehru, Sardar Patel and Pattabhi
Sitaramaiyah did not favour linguistic
basis for reorganization of states.

Codes—
(A) Only 1
(C) Only 1 and 3

(B) Only 1 and 2
(D) All the three

Who said ‘Family is the first school of Social
Life’ ?

(A) Plato (B) Aristotle

(C) Mahatma Gandhi (D) None of these

241.

242. Who is considered a radical humanist ?
(A) Ravindra Nath Tagore
(B) Savarkar

(C) M. N. Rai

(D) Jawahar Lal Nehru

38

SET-A
238. ‘¢ TEIA-ew gu’ R fove 7
(A) 9. 41, He (B) TH. %. :mfr _
(C) &. . (D) T94 & @i FEl

239. HHT §HE 59 FAT & fawg w A FF 940

Tl B—

(1) Sasia q9adl & g9 59 2 |

(2) Traf~ag U9 &1 Fedrd 4 |

(3) Tog # Tegafa 9mEA A T & STEe
5

(4) T e ® s g w0 9 foew 9ghd
¥ 39 &g wEag wid & |

dr fea 2 4 | |8 W F1 99 -
a&?-—

(A) 1, 2 AT 3 (B) 2, 3 3 4
(€)1, 2 3R 4 (D) &+ft = R

240. f7=1 Fge « faan #ifag &R g g2
FI Wergar § Fary & W & T @@
g_

(1) gfqam § gFaa o Rea g 9gF
&1 ANferF 78 B

(2) THE. O HAEF 7 T & oA &
T & HTIR BT ST Ji=a graem &
Fiaar &1 471

(3) HfeT e, TER Uea AR 92 HareEan
&1 AT § FIIH FHE, T F AT
H WuTE AR & ve ¥ TE 47

R

(A) &FT 1

(C) Faw 1 3 3

(B) Faw 1 X 2
(D) &1 dri

241. ‘gfvar |rEToTeE SiEE &1 99H e & R

FET 7

(A) @i (B) s

(C) weraT Tively (D) 39 § #1E &
242. eFa wHgarRT fee wenn s & ¢

(A) T A9 TR

(B) Qe

(C) 9. U1, 19

(D) TR T T g(General)/A



243.

244,

245.

246.

247.

248.

249.

250.

Who propounded that ‘Man is born free, but
every where he is chains’ ?

(A) Rousseau (B) Gratius

(C) Aurobindo Ghosh (D) None of these

The behaviour characteristic of SALA
official is—

(A) Efficiency

(B) Self-aggrandizement

(C) BothA & B

(D) None of these

The term ‘United Nations’ was coined by—
(A) Pluto (B) Gandhi
(C) Roosevelt (D) None of these

The correct order of following characteristics
of political development—
(a) Capacity (b) Differentiation

(c) Equality

(A)a b c B)cba
Ccab (D) b, ¢, a

The author of ‘Politics, Parties and Pressure
Groups’ is—

(A) D. D. Basu (B) V.O.Key

(C) Gandhi (D) None of these

The best feature of pressure groups is—
(A) Official-Government

(B) Un-official Government

(C) Invisible Government

(D) Anonymous Empire

PIL means—

(A) Public Interest Litigation
(B) Police Investigation Limited
(C) Public Informatic Limited
(D) None of these

Genocide means—
(A) Suicide (B) Killing children
(C) Killing females (D) Mass killing

SET-A
243. ‘A TWEA T A © gty w4 arear §
e g3 & foee wfamfea fear—
(A) =& (B) Ifraw
(C) srfa= d@iy (D) = & =E &

244, ‘wrar’ (SALA) siferrli & =aer @i fagaan
3
(A) Terar
(B) =-fagefq
(C) AT B Ml
(D) =9 § ®IE 7El

245, Ay WgET TG A E—
(A) =T (B) wifeqt
(C) Toawe (D) 9 & FE T

246. ToHITas e & f=faieg qe & 98

ATHA B—

(a) &=ar (b) faf=irEro
(e) gHa1

(A)a b c B)c b a
C)cabd D) b ca

247. ‘gifwfedE, TS TT IR I F TE@T
() B15. =g ®) . 3.
(C) et (D) 7 & FE 7

248. TETT WE F FAAT T 6
(A) TS E-gTaEHT
(B) 3RHHIG-ITHEHIA
(C) 31899 &g
(D) 3™ qETg

249. dt.3E.04. (PIL) &7 Ta9q 8—
(A) ufews gt fafeds
(B) gferd saeere M fties
(C) ufewsr oAy fafies
(D) 4 & T A8

250. SfaEeR B—
(A) STTeEdT
(C) f=at &t zar

(B) =i &l &l
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SET-A

History Section (Q. No. 2
sfaema (999 @& 251 ﬁ“ 300 &)

51 to 300)

251. Of the following, who was never elected as
President of the Indian National Congress ?
(A) Annie Besent
(B) Ambika Charan Majumdar
(C) Bal Gangadhar Tilak
(D) J. B. Kripalani

252. In which distriet is Chauri Chaura situated ?
(A) Deoria (B) Gorakhpur
(C) Kushinagar (D) Mabharajgang

253. The Haripura Session of Indian Naiional
Congress, 1938 was presided over by—
(A) Abul Kalam Azad
(B) 1. B. Kriplani
(C) Rajendra Prasad
(D) Subhash Chandra Bose

254. Louis Fischer, the biographer of Mahatma
Gandhi, was—
(A) An American Journalist
(B) A British Journalist
(C) A French journalist
(D) A German journalist

255, In which of the foliowing Round Table
Conferences, the representation of the Indian
National Congress participated for the first
time ?

(A) First Round Table Conference
(B) Second Round Table Conference
(C) Third Round Table Conference
(D) None of the above

256. Bamiyan in Afganistan was famous for—
(A) Hindu temple
(B) Ivory work
(C) Minting of gold coins
(D) Statue of Buddha

257. Which of the following dates was fixed for
‘Direct Action Day’ by the Muslim Legue ?

(A) 13th August, 1946 (B) 14th August, 1946
(C) 15th August, 1946 (D) 16th August, 1946
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251.

252.

253.

254.

256.

Fr=fefas o | &F 1 91 9raE T2
FIE F FeFE Tél g T4 91 7
(A) T FH2

(B) #ifrgen =01 A9peR

(C) ara TR faee

(D) 91. &1, FHIAHT

T = T e fRad E v

(A) Zafan (B) @
(C) HITT (D) HEWA

ad 1938 9 ARGE UEME FIE F ERga
AT &7 ST FT di—

(A) A FaATH AR

(B) 5. dI. e

(C) o= EE

(D) 919 T 99

HErHT Tl & SaTER, TF R ar—
(A) TF FHTF T=FR
(B) vz fafes war
(C) U% HEET 95FR
(D) UF THT TIFR

. rfeET | ¥ 6 s eHed § 9

T@meuﬁrﬁfﬁqmwwﬁm

(A)QWWW
(B) fzdma Tems q=ya
(C) FATg Mo Tw
(D) 39dF § ¥ FE TE

AEMHE & =iar gag a—
(A) ferg T & Fm

(B) &1 &fq & &1 &
((‘)‘ﬂﬂTﬁmﬁi‘m?@

(D) g5 g & far

257. feteEd § ® ®W & fafg qiem @ 3

(A) 13 31777 1946 (B) 14 3175 1946
(C) 15 31 1946 (D) 16 3T 1946
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258. For whom did historian Baddayuni

259.

260.

261.

262.

263.

264.

Commented on his death “Sultan got freedom

from his masses and the masses from the
Sultan” ?

(A) Alauddin Khilji

(B) Balban

(C) Itutmish

(D) Muhammad-bin-Tuglaq

The word “Yava® mentioned in Rigveda is
used for which agricultural product ?

(A) Barley (B) Gram

(C) Rice (D) Wheat

The Rummindei Piller of Ashok was put up
to mark—

(A) Birth of Buddha

(B) Enlightenment of Buddha

(C) First Sermon of Buddha

(D) Demise of Buddha

Which one of the following is not associated
with the Court of Kanishka ?

(A) Ashvaghosha  (B) Charaka

(C) Nagarjuna (D) Patanjali

Which dynasty of rulers is associated with
the construction of famous Kailasha Temple
of Ellora ?

(A) Chalukyas
(C) Pallavas

(B) Chola
(D) Rashtrakutas

The Sultans of which dynasty ruled the
country of India for the longest period ?
(A) Khilji dynasty (B) Lodi dynasty
(C) Slave dynasty (D) Tughlaq dynasty

Which of the following places was the capital
of Satavahanas ?

(A) Pratishthan (B) Nagarjuna konda
(C) Shakal or Syalkot (D) Pataliputra

SET-A

258. feeraar SErfT J fred 9 W Fer ar

259.

260.

261.

262.

263.

264.
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“HEI I AT TS H I G G 4
i i 10—

(A) SreTEEF Tt

(B) q@a=

(C) geegatast

(D) ge77 fa g

e ¥ i ‘a9 o= few gy oo &g
yga e T E 7
(A) ST

(C)

(B) T

(D)

AgiE F SRS T Hafug B
A)FEF T EH

(B) g% & FH-¥Id |

(C) g5 % o JUeH &

(D) & % SHR-AT ¥

fa=fafad ¥ § @9 v &% & SER §
TEE w491 ?

(A) FyaHq (B) =&

(C) AR (D) Taaf

UHRT & Wieg denyr wiex & Fmior § 29 6
TS 99T TEE 6 8 7

(A) FTIH (B) 9@

(C) a1 (D) e

9T 9T § g fhar ¢

(A) famett g9 (B) T g5t

(C) =9 = (D) w9

= 5 ¥ F19 ' == graarea & aeaE
ar 7

(A) (B) T hioet

(C) yerw 3rFar | (D) ureieg
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265.

266.

267.

268.

269.

270.

271.

272,

A bomb was thrown on the occasion of his
state entry into Delhi at—

(A) Lord Curzon (B) Lord Mayo

(C) Lord Minto (D) Lord Hardinge

Aurbindo Ghosh wrote—
(A) Extremist movement
(B) Moderate movement
(C) Kesari )
(D) The Devine Life

The division of mauryan society into seven
classes is particularly mentioned in—

(A) Kautilya’s Arthashastra

(B) Asokan edicts

(C) The Puranas

(D) Meghasthenese’ Indica

Which Urdu newspaper was started by Lajpat
Rai from Lahore in 1920 ?

(A) Bande Matram (B) People

(C) Tribune (D) Vir Arjuna

Who had established “India Independence
League™ ?

(A) Subhash Chandra Bose

(B) Ras Bihari Ghosh

(C) Surendra Nath Banarjee

(D) None of these

Sarnath pillar was built by—
(A) Harshvardhan (B) Ashok
(C) Gautam Buddha (D) Kanishka

Which of the following Indian leaders did
not support the Khilafat Movement ?

(A) Jawaharlal Nehru

(B) Madan Mohan Malviya

(C) Mohammad Ali

(D) Swami Shraddhanand

Nana Saheb’s Commander-in-Chief was—
(A) Azimullah (B) Birjis Qadar
(C) Tantia Tope (D) None ofthe above
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265.

266.

267.

268.

269.

270.

SET-A
femn ® S TS ¥A9 & SrEEY W ad
Gl AT A7 7

(A) TE Fol W
(C) &2 fo=ar o

(B) @1 41 W
(D) @rE &afET o

a9 7 fomar ar—
(A) TeRESIfE T
(B) HI=Z qaH<

(C) F&T

(D) % fEars a=®

a1 9 T a9 9| a8 99 91 W
Sfeatad &—

(A) Fifeea & srdomer |

(B) @19 & faremerg ®

(C) Fait # _
(D) ATEHTS 1 3fvEa #

79 1920 ¥ WER | AT T T T4 H FE
1 HHTER 95 YA far Ty ar 7

(A) FEHTERH (B) dud

(C) fe=gm (D) dR &

|4 ‘sivsgr gfedsw & & =maer
T 7

(A) g99a= 9| 9

(B) TEies g9 |

(C) g 7/ g0 A

(D) U § FE T8

AT WY &1 FEier fmar ar—
(A) BdadT 9 (B) a19iteR o
(C) a9 g€ (D) e 9

271. F=itka ® & R urdm Aar F feemea

A=A & GHUT 8T far ar 2
(A) STATEX 9T A5
(B) We HIe Hradd

(C) Hie™e 37y
(D) @rft HgEe
272. T 918 F “FHVE-ST-9R ST 91 2
(A) SroiTm-Seire (B) fatforg =ifer
(C) diferar 2 (D) &9 ® ¥ =I5 T8
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273.

274,

275.

276.

277,

278.

279.

Which of the following pairs do not match ?
Find your answer with the help of given code—
(1) British India Society — London
(2) East India Association — Calcutta
(3) National India Association — London
(4) Indian Association — Bombay

(A) 1and 2 (B) 3and 4

(C) 1and 3 (D) 2 and 4

Saddler Commission was.associated with—
(A) Judiciary

(B) Revenue Administration
(C) Education
(D) Police Administration

One Governor-General took part in one
sessions of congress. What was the name of
Governor-General & at which place the
session was held—

(A) Lord Irwin — Karachi - 1931

(B) Lord Willington — Bombay - 1915

(C) Lord Dufferin — Bombay - 1885

(D) Lord Hardinge — Lucknow - 1916

Who amongst the following were responsible
for the formation of the Independence for
India League in 1928 ?

(1) Jawaharlal Nehru

(2) Subhash Chandra Bose

(3) Acharya Narendra Bose

(4) Jaiprakash Narayan
(A) 1,2and 3 (B) 2,3 and 4
(C) 1and 2 (D) 3and 4

The famous rock-cut temples of Elephanta
are ascribed to—

(A) Chalukyas (B) Chola

(C) Pallavas (D) Rashtrakutas

Which Sultan of Delhi is said to have
followed the policy of “Blood and Iron™ ?
(A) Iltutmish

(B) Balban

(C) Jalaluddin Firoz Khilzi

(D) Firoz Shah Tughlaq

Which has the longest tenure as the Viceroy
of India ?

(A) Lord Curzon (B) Lord Dufferin

SET-A

— T
(3) wya Efvsar uEifquse — @A
(4) sz waifdQee - o

(A) 1 &R 2 (B) 3 &R 4

(C) 1 3 3 (D) 2 37 4

274. A AN FEFUT 97—
(A) ~graarfereT &
(B) ToEg 99mET H
(C) foram &
(D) gfes g9maT §

275. FIE & UF AP § TF TEH AW A
qrT foam a1 | S T T adn sifeEe
o = g g o g ar e
(A) &2 A — &dr - 1931
(B) @2 fafeeq — =g - 1915
(C) @€ T — =g - 1885
(D) &€ ' — @@as - 1916

276. =1 5 & Fr ad 1928 § “sfoetEy wi gvear
A &H A | EE g 7
(1)Wm$§?
(2) T
(3)%%%3
(4) SIS TR0
(A) 1,2 3R 3 (B) 2, 8 3R 4
(C) 132 (D) 8 3R 4

277. TAGT & UiHw I @ BEel s9d Y
A3 F1 7 fFar o 2—

(A) aTgdl & (B) =l @t
(C) yewal &t (D) T=FE! H
8. e @ Fm g S R A wer mr &
T T SR e & AT s 4 ¢
(A) Fegatae
(?:)W fortier fawett
(C) STeTger
(D) fRirweTTe e
279. FIH NG FHT IGE0T G99 SHEE ab @ 7
(A) FTE Fof (B) i THRA
(C) wtE afsm (D) @ #4r

(C) Lord Hardinge (D) Lord Mayo
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280.

281.

282,

283.

284.

285.

Under whose Governor-Generalship was the
Vernacular Act repealed ?

(A) Lord Ripon (B) Lord Lytton

(C) Lord Curzon (D) Lord Dufferin

Which of the followings sources gives a
detailed account of city administration of the
Mauryas ?

(A) Kautilya's Arthashashtra

(B) Meghasthanese’s Indica

(C) Mudrarakshas of Vishakhadutt

(D) Inscription of Ashoka

With which Army General did Shivaji sign
the “Treaty of Purandhar™ (1665) ?

(A) Jai Singh (B) Jaswant Singh
(C) Shaiyasta Khan (D) Afzal Khan

Mahatma Gandhi launched the first
Satyagraha campaign in—

(A) Bardoli (B) Baroda

(C) Champaran (D) Dandi

Which of the following is not correctly
matched ?

(A) Unhappy India — Bal Gangadhar

Tilak
(B) Durgesh Nandini — Bankim Chand
Chatterjee
(C) India Wins — Abul Kalam
Freedom Azad
(D) Poverty and — Dadabhai
Unbritish rule Naoroji
in India

Read the following events connected with the
Indian National Movement—

(1) Karachi session of the Indian National

Congress — 1931

(2) Execution of Rajguru

(3) Gandhi-Irwin Pact
Find the correct chronological order of the
events from the code given below—

(A) 3,2, 1 By 1,2.3

(€) 2,3,1 (D) 1.3,

=2

Sa

SET-A

280. fFg AW S A F 99T YR HET TER

Afafgy a9 a1 T 7

(A) I RaA (B) e fered
(C) =12 &oi (D) @E TERA

281. fr=ifaifga & & %9 91 91d1 & T 99EA

%1 forega faavor wega e &
(A) Frieed FT Fsme

(B) FTEIATA & 302E

(C) fagmaes &1 geEres

(D) g & forererE

282. foFs et IaSE & |y ferEml 7 g 6

Tl (1665) 97 e=mer g 4 7
(A) 53 fiE (B) wwa= faz
(C) gngw @l (D) H%A €l

283. HETT T 9 YU9 HAWUE IAWAE =@

En_
(A) IErET (B) @2rer |
(C) T+ ¥ (D) =& |

284. Fr=faiEa § 4 & @8 gafoa 7@ & 2

(A) 3FEodT sfrear — 9@ MR

(B) giler A= — dfgaa=s
. Al

(©) E — g HelH

(D) "radt uvs — TRTHTE TR
sHfafest ®a
= givsar

285. WG T S=reE § geEfa fratatad

AT & G-

(1) YA L FF 1 FE AEyE
— 1931

(2) TEE HOEET

(3) Tre-gefa Fasi

HEAIST F1 HE FETHA A o7 T g &

AT FHi—

(A) 3,2.1 (B) 1,2,3

(€) 2,3.1 M) 1,32
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286.

287.

288.

289.

290.

291.

292.

Queen Victoria’s Proclamation was read out
by Lord Cannings on 1st November, 1858 at—
(A) Allahabad (B) Calcutta
(C) Bombay (D) Madras

Which Sultan of Delhi brought Ashoka’s
pillar to Delhi ?

(A) Firozshah Tughlag

(B) Jalaluddin Khilzi

(C) Mohammad bin Tughlag

(D) Qutubuddin Aibak

The Poorna Swaraj Revolution adopted at the
Lahore session of the Indian National
Congress was moved by—

(A) Bal Gangadhar Tilak

(B) Jawahar Lal Nehru

(C) Mahatma Gandhi

(D) Sardar Patel

Which one of the following pairs is correctly
matched ?

(A) Babar — Tuzuk-i-Babari

(B) Humayun — Humayun Namah

(C) Sher Shah — Tarikh-i-Shershahi

(D) Akbar — Tabkat-i-Akbari

Who among the following female
revolutionary fired at the English Governor
(Chancellor) while receiving her Degree at
the convocation 7

(A) Shanti Ghosh

(B) Suniti Chaudhary

(C) Bina Das

(D) Kalpana Dutt (Joshi)

The real name of which one of the following
leaders of 1857 was “Ram Chandra
Pandurang™ ?

(A) Kunwar Sahab (B) Tatiya Tope

(C) Nana Sahab (D) Mangal Pandey

The slogan ‘Long Live Revolution’ (Inglab
Jindabad) is associated with—

(A) Chandra Shekhar Azad

(B) Ram Prasad Bismil

(C) Bhagat Singh

286.

287.

288.

SET-A
1 ¥ 1858 T WEWHT faaraiiear &1 5aong=

UG AT AT WS AT A
(A) TAEER ¥ (B) @wwadar §
(C) =g | (D) W& &

fewit &1 @ W g AeE T e awn
qr 7

(A) fEeee g

(g)amﬁ%qﬁqasﬁ

(C) yz=1e 99 giee

(D) HIIEN T

YT TS HHT T WRATT UL FAT AER
Aty # fora wega foear & 2

(A) a1 TeR fwe

(B) TR AW 86

(C) weT@T el

(D) §7ER 9ed

289. f=ifofas gl § § & &1 0% Fafad e—

290.

291.

292,

(D) Lala Hardayal

45

(A) 9T — THH-T-AE
(B) g9 — EHIGAH

(C) % — ARG SREME!
(D) 3TFaET — TEEM AFAY

=t # & fom At wifaera = dar=
qarE H gl sufy (feh) wewr e wwa
T MaR (FHEtefa) W e 9w 49 7
(A) onf= =T

(B) ey
© Gk
(D) 9T & (Sish)

1857 & ffeiaa sifasmal § 8 foeaar
IrARE AN T g 9t ?

(A) TR qred (B) arar 29

(C) =1 |1Eq (D) 5T urosg

Fgarg foreEe’ w1 9n FeE gEE © 7
(A) TRIEX AT

(B) wETe el

(C) s e

(D) ¥ BEd

06(General)/A



293.

294.

295.

296.

297.

298.

299.

300.

Who among the following Sultans of Delh
established as ‘Employment Exchange” ?
(A) Balban

(B) Alauddin Khilzi

(C) Mohammad Bin Tughlag

(D) Firoz Shah Tughlag

Which religion was patronized by the
Rashtrakutas ?
(A) Buddhism
(C) Shaivism

. (B) Jainism
(D) Shaktism

Which one of the following was favoured by
Nehru but not favoured by Gandhiji ?

(A) Truth

(B) Non-Violence

(C) Untouchability

(D) Heavy Industrialisation

Adi Shankaracharya established four Mathas,
These mathas are situated at—

(A) Sringeri, Dwarka, Joshimath, Prayag
(B) Dwarka, Joshimath, Prayag. Kanchi
(C) Joshimath, Dwarka, Puri, Sringeri

(D) Puri, Sringeri, Dwarka, Varanasi

Cotton for textile was first cultivated—
(A) Egypt (B) Mesopotamia
(C) Central America (D) India

By which name Chanakya was known in his
childhood ?

(A) Ajaya

(C) Vishnugupta

(B) Chanakya
(D) Deogupta

‘Who among the following Pakistani national
was awarded the Bharat Ratna by the Indian
Government ?

(A) Liyakat Ali Khan

(B) M. A. Jinnah

(C) Khan Abdul Ghaffar Khan

(D) Muhammad Igbal

In which year was the States Reorganization
Act passed by the Parliament of India ?

(A) 1953 (B) 1954

(C) 1955 (D) 1956

SET-A
293, S & FerEard feeen & f=tatad gear
¥ faa TaTR Fratad &1 e $ 41
(A) ET =
(B) wi@TeE™ e |
(C) gewwe ot e 3
(D) f&2 EAGERE
294, 778 99 F1 TSHS & G W< 491 ?
(A) drg aH (B) S &
(C) 99 g9 (D) e &=

295. fa=ifataa § ¥ fFas vgeR H6e 4, 9ig T
T 7
(A)
(B) sifear
(C) segean
(D) 9T TR

ofe ieTETd BT w@IvG 9K 9o FEl e

(A) 4d, e, sisfes, yam
(B) &I, SiIsie, YA, &l
(C) SIS, &, 34, 7T
(D) g¥I, 7, ERET, aRTE

296.

297. 9 & [Q HUTE & Gell T ST FI9 Ted
el fovar man ¢
(A) frg o (B) gEefyar §
(C) wem @R § (D) 9F ¥

298. OTFI €99 S R A A W W g 2
(A) =g (B) T
(C) faopr= (D) <@

299, frfafea § | feg wifemas 9mfie @
qRd @R & 9Rd ™ § g9 53
T ?

(A) foraresa 3= @l
(B) w1. w. =1 _
(C) @M rEgw THFER @l
(D) J&we THaTE

300. T gen sfufaan feg 9d 4rdm 69
Z1T uTiE foar mar o
(A) 1953
(C) 1955

(B) 1954
(D) 1956
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